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Instructions:

t Write each lnswer on a new pctge.

t Use oJ'c.r colculotor is perntitted.

+ Notcrtions have their usuctl nteaning.

+ Atlvisoble to go through the question poper qt the start of the exam and attempt those questions first that you

ere more comlortable with. Present Value tables ttttached.

, * C0s=Course Outconre muppin.rl. # BTL=tslottrtt's 'l trxortorn..v Level tnopping
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A regular coupon (paid annually) bond rvith a fhce value (rratLrrity valr"re) of Rs.100

has aoor.rpon late o1'70kp.a. The rnatirrity o1'the bond is 5 years. The currentyield on

the Bond is 9% p.a. lf the yield rises to 9.35"/o rvhat r,vould be the price of the bond at

this risen 1,ielc1'l

Portlblio'Q'lias a standard der,iation o1'l2uul anclan erpected retLrrn of 100%.

Portfblio'[{'has a stanclard deviation ol'47J and an expected return of 8%. If the risk
iiec ratc is lui, ulticlt oLrt o1'thcse trio portlolios shor-tlci be designated as'Market
Portlblio (M)' lor thc purpose ot'('MI-. JLrstil1, u itlr relerant calculation.
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Ihc bcta ol'a slocl' is 1.2. l'he crpcetecl rellrnl on the rttalliet fbrthe coming year is 14%

ancl thc- l{isli Free rate is --19t. It'price ol'the stocl' curletttly is lts.50, rvhat would be the

erpeoted price ol'the stooh after a year. assuming the stock is priced according to SML?
ll'o Divirlencl,s' ctre puyctble cluring the yeurl

A Deep discount bond (Zero collpon boncl) has a {ace value of Rs. 100 and a maturity
ol'7 years. If tlie current yield isloA. rvhat ri,ould be Price at which the bond would trade

in the rrarliet'l
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Q,3 ILisli liee rate ot'retllrn isTo/o p.a. The retlli'ns generatedby BSE Sensex (Market
lncler) ancl MS Ltcl. lor thc lasl lbur yetit's as tbllow's:
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BS Fr Sense r
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Q.4 same expiry date. on the stock of I-lVL are available with the following

llascri on the inlilrrrtati,.itr iilror'c:

i) F:orrr a [,ong Straddle (l Marh)
iil ( alcLrlare the I'inal par,t)lf , Nct plolit of the l.ong straddle if the stock price

o1-llVt. cioses at tl-rc' firllou irrq at tire erpirr, of the options: (6 Marks)
a ) I{s. 220
b) Rs. 1 50
c) Rs.200

iii) What is the maximum loss per share that the investor in the above-

rrentioned long straddle can malie? (1 Inark)

c:15
p: 17

Options. r,l ith

Call X : Rs. 250 c: Rs. 13

data:

('h'igure.s tn Rt.)

C-all : X: Rs.200
Put: X: Rs.200
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Qs l-xpected/Mea r] retlrrn and standard deviation o1'three stocks X,Y 
" 
Z are as follows:

Stocks X Y Z
E,xpected Return (9/o) 12 12 12

Slcl. cler. iaLion,.,1' r ettrlrrs (9,1) 8 ll

the ooetllcieirt o1'crtrreltrtittn al'c prr - 0.7 . pr,, '- - 0.1. pi'z = 0.6

An in yestor is to sclcct be1\\'cctt tr,vrl porttitlios ,

a) 609,c, o1 his rroncy in Stocl. X anci Balatlce in stock Y
b) 509{, in stocl' X ancl 509/o irt strlcl. Z

CalcLrlate the expected leturu and the risli lbr the above mentioned porlfolios. Also

ntentiort rvhich o1'the Portfblio's outthe above shoLrld be selected for investlnent

according to the principles of Portfblio theory (Markorvitz) arrd very briefly (in
seutence or two.i Lrstili' yolrr alts\,\'el' based on tlte calculations.
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